Puissances de Dix (D)

Trouvez chaque produit ou quotient.

3+10t= 91 x 10! =
96 - 10 = 66 =~ 101 =
66 ~ 101 = 94 ~ 102 =
52 +103 = 53 = 103 =
35 x 103 = 18 - 10 =
73 +10% = 14 + 103 =
24 x 10 = 60 X 10% =
5x 10% = 81+ 102% =
52 % 103 = 11 - 10% =
29 ~10% = 73 x 101 =
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Puissances de Dix (D) Solutions

Trouvez chaque produit ou quotient.

3+10'=0,3 91 x 10* =910
96 ~ 10'=9,6 66 +~10' = 6,6
66 +~10'=6,6 94 + 10% = 0,94
52 +10%=0,052 53 +10°=0,053
35 x 10 =35000 18+10'=1,8
73 +10°=10,73 14 +10°=0,014
24 x 10' =240 60 x 10 =6 000
5 X 10* =500 81+ 10%>=0,81
52 x 10° =52 000 11 +10%°=0,11
29 +10%=10,29 73 x 10* =730
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